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Question Number : 1 Question Id : 97103630457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s the main objective of teaching?

Options :

1 » To give information related to the syllabus

, » Help the students in getting jobs

5« To develop thinking capability of students



4 » Prepare the students for examination.

Question Number : 2 Question Id : 97103630458 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not a level of teaching learning?

Options :

1 » Memory level

> « Differentiation level

3. % Reflective level

4« Understanding level

Question Number : 3 Question Id : 97103630459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An effective teacher will ensure

Options :

| w Laissez-failure

, » Competition among students

5 » Competition or cooperation as the situation demands



4« Cooperation among his students

Question Number : 4 Question Id : 97103630460 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Morphograph is the term associated with

Options :

| « Corrective spelling

, » Corrective learning

3 % Corrective behavior

4% Corrective reading

Question Number : 5 Question Id : 97103630461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is NOT associated with micro-teaching ?

Options :
 Knowledge acquiring
1 . u b L

Skill training

5 o Atomic teaching procedure



4 » Content transfer

Question Number : 6 Question Id : 97103630462 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The main aim of ‘National Council for Teacher Education’ 1s

Options :

- To promote research in education

, » Tomaintain standards i colleges of education

5 » L0 provide grant to colleges of education

4 = Lo open colleges in education

Question Number : 7 Question Id : 97103630463 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s a Massive Open Online Course (MOOCs) platform created by the

MHRD. Govt. of India?

Options :

. » SWAYAM

, « PRATHAM



3 » OPEN LEARN

, » FUTURE LEARN

Question Number : 8 Question Id : 97103630464 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following does not belong to a projected aid?

Options :

- Overhead projector

5 o Black board

_— Epidiascope

4% Slide projector

Question Number : 9 Question Id : 97103630465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The purpose of formative evaluation is to

Options :

J Accelerate student’s learning performance



Provide a feedback to teacher effectiveness

3 % Grade students learning outcomes

Check student’s performance graph

Question Number : 10 Question Id : 97103630466 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Learning is a lifelong process

Reason (R): Learning to be useful must be linked with life process.

Choose correct answer from the following

Options :

- Both (A) and (R) are true and (R) 1s the correct explanation of (A)

5 % Both (A) and (R) are true. but (R) is not the correct explanation of (A)

3 % (A) 1s true. but (R) 1s false

4 % (A)I1s false. but (R) 1s true

Question Number : 11 Question Id : 97103630467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘Gyan Darshan’ launched by IGNOU refers to which one of the following?

Options :

1 Satellite based educational T.V. channel

, % Educational F.M radio network

5 » Global mitiative of academic networks

4 Online courses

Question Number : 12 Question Id : 97103630468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the sets of activities best indicate the cyclic nature of action research strategy?

Options :

Reflect. Observe. Plan. Act

1. %

5 @ Plan. Act. Observe. Reflect

3 % Act. Plan. Observe. Reflect

Observe, Act. Reflect. Plan

Question Number : 13 Question Id : 97103630469 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which of the following research types has a potential for enhancing teaching competencies?

Options :

- Fundamental research

Applied research

2. %

3 % I_'lllpﬂ{:'[ assessment research

4V Action research

Question Number : 14 Question Id : 97103630470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is the main aim of interdisciplinary research?

Options :

- To bring out holistic approach to research
, « Lo over simplify the problem of research

5 » loreduce the emphasis of single subject in research domain

4 » Tocreate a new trend in research methods



Question Number : 15 Question Id : 97103630471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Manipulation 1s always a part of

Options :

| » Fundamental research

,  Descriptive research

5 » Experimental research

4« Historical research

Question Number : 16 Question Id : 97103630472 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A thesis statement 1s

Options :

|« Afact

, » An observation

5 % A discussion

4 An Assumption



Question Number : 17 Question Id : 97103630473 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is an indication of the quality of a research journal?

Options :

g-index

1. #

, % D-index

5 » lmpact factor

. 110-mndex

Question Number : 18 Question Id : 97103630474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A hypothesis is a

Options:

1 = Postulate
> % Law
Canon

3. %

4V Supposition



Question Number : 19 Question Id : 97103630475 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ethical norms in research do not involve guidelines for

Options :

1 % Copyright

5 Thesis format

- Patenting policy

Data sharing policies

Question Number : 20 Question Id : 97103630476 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s a research tool?

Options:

| « lustration

, % Graph

- Questionaire



s
4 % Diagram

Is Section Default? : null

Question Id : 97103630477 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Read the Passage and answer the following questions:

The Taj Mahal has become one of the world’s best known monuments. This domed white
matble structure 15 situated on a high plinth at the southern end of a four-quartered garden,
evoking the gardens of paradise, enclosed within walls measuring 305 by 549 metres. Outside
the walls, i an area known as Mumtazabad, were living quarters for attendants, markets,
serais and other structures built by local merchants and nobles. The tomb complex and the
other imperial structures of Mumtazabad were maintained by the income of thirty villages
given specifically for the tomb’s support. The name Taj Mahal 15 unknown in Mughal
chronicles. but it 1s used by contemporary Europeans in India, suggesting that this was the
fomb’s popular name. In contemporary texts, it is simply called the illuminated tomb (Rauza-
I-Munavvara).

Mumtaz Mahal died shortly after delivering her fourteenth child in 1631, The Mughal court
was then residing in Burhanpur. Her remains were temporarily buried by the grief-stricken
emperor in a spacious garden known as Zainabad on the bank of the river Tapti. Six months
later, her body was transported to Agra, where it was interred in land chosen for the
mausoleum. This land, situated south of the Mughal city on the bank of the Jamuna, had
belonged to the Kachwaha rajas since the time of Raja Man Singh and was purchased from
the then current raja, Jai Singh. Although contemporary chronicles indicate Jai Singh's
willing cooperation in this exchange, extant farmans (imperial commands) indicate that the
final price was not settled until almost two years after the mausoleum’s commencement, Jai
Singh’s further cooperation was msured by imperial orders issued between 1632 and 1637
demanding that he provide stone masons and carts to transport marble from the mines at
Makrana, within his “ancestral domain’, to Agra where both the Taj Mahal and Shah Jahan's
additions to the Agra fort were constructed concurrently.

Work on the mausoleum was commenced early in 1632. Inscriptional evidence indicates
much of the tomb was completed by 1636. By 1643, when Shah Jahan most lavishly
celebrated the ‘Urs ceremony for Mumtaz Mahal’, the entire complex was virtually
complete.

Sub questions

Question Number : 21 Question Id : 97103630478 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Marble stone used for the construction of Taj Mahal was brought from the ancestral domain
of Raja Jai Singh. The name of the place where mines of marble were situated, 1s

Options :

| Buthanpur

Makrana
2. %

_— Amber

4w Jaipur

Question Number : 22 Question Id : 97103630479 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The popular name Taj Mahal was given by

Options :

1 w» Shah Jahan
Muntaz Mahal

2. %

3« Jai Singh

Europeans
4. ¢



Question Number : 23 Question Id : 97103630480 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Point out the true statement from the following.

Options :

1 » Marble was not used for construction of the Taj Mahal.

- Red sand stone is non-visible in Taj Mahal complex.

- The Taj Mahal is surrounded by a four-quartered garden known as Chahr Bagh

4% The Taj Mahal was constructed to celebrate the ‘Uts ceremony for Mumtaz Mahal’

Question Number : 24 Question Id : 97103630481 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the contemporary texts. Taj Mahal is known

Options :

1 % Mumtazabad

> = Mumtaz Mahal

Zamabad

4 Rauza-i-Munavvara



Question Number : 25 Question Id : 97103630482 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The document indicating the ownership of land. where Taj Mahal was built. is known as__

Options :

| » Farman

5> % Sale deed

3 % Sale-purchase deed

4 = Gift deed

Is Section Default? : null

Question Number : 26 Question Id : 97103630483 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Telephone is an example of

Options :

» Linear communication

, Non-linear communication

2 % Circular communication



4 % Mechanized communication

Question Number : 27 Question Id : 97103630484 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mode of communication that mvolves a single source transmitting information to a large

number of receivers simultaneously. is called
Options :
| » Group communication

> Mass communication

- Interpersonal communication

4 Intrapersonal communication

Question Number : 28 Question Id : 97103630485 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In communication. the language is

Options :

- The non-verbal code

5 The verbal code



3 % The symbolic code

4% The iconic code

Question Number : 29 Question Id : 97103630486 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Chatting in internet is type of communication

Options :

1 = Parallel communication

, % Grapevine communication

" Verbal communication

4 » Non-verbal communication

Question Number : 30 Question Id : 97103630487 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which group of communicating aspects does not disrupt the communication process

in the class?
Options :

| « Evaluating - focusing - exaggerating



5 Focusing — illustrating - exaggerating
- Evaluating — focusing - illustrating

. x Reversing — Evaluating — focusing

Question Number : 31 Question Id : 97103630488 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following can be termed as verbal communication?

Options :

1 « The child was crying to the attention of the mother

) Signal at the cross-road changed from green to orange

3 Professor RAM delivered the lecture in the class room

Deepika wrote a letter for leave application

Question Number : 32 Question Id : 97103630489 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The first Indian satellite for serving the educational sector 1s

Options:

1.



. INSAT-B

5 EDUSAT

5 INSAT-C

, » SATEDU

Question Number : 33 Question Id : 97103630490 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In analog mass communication. stories are

Options :

1@ Stafic

, % Dynamic

5 x lnteractive

Exploratory
4, % :
Question Number : 34 Question Id : 97103630491 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a certain code MANISH is written as NZMRHS. then how will RANJITA be written
in the same code?

Options:

. 1ZMPRGZ

, « ZMQRIZ

3 @ IZMQRGZ

4 % 1ZMQRHZ

Question Number : 35 Question Id : 97103630492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A'ts father of C and D 15 son of B. E 1s brother of A. If C 1s sister of D, how 15 B related to E?

Options :

Brother-in-law

> o Sister-in-law

3 % Husband

4 » Daughter



Question Number : 36 Question Id : 97103630493 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Complete the series Q1F, S2E, U6D, W21C,

Options :

.« YG66B

, « Y44B

3 v YS8B

4 = Z838B

Question Number : 37 Question Id : 97103630494 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f SHARP 15 coded as 58034 and PUSH is coded as 4658 then RUSH 1s coded as

Options :

3568

1. %

W

#
I'__|_J
[}
o0
L

Ll
h
>0
L)



Question Number : 38 Question Id : 97103630495 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

RIDE : LNBE :: HELP : ?

Options :

. % NINP

, » BAIP

. » BIIP

, » JPCH

Question Number : 39 Question Id : 97103630496 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ratio of the boys and girls in a school 1s 7:6. If 100 boys join in the school, the ratio

would become 5:4 then the number of girls in the school is
Options :

1 % 200

.+ 800

1200



4« 1600

Question Number : 40 Question Id : 97103630497 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the least number to be subtracted from 696 to be it a perfect square?

Options :

I

1. %

16

Question Number : 41 Question Id : 97103630498 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f a trader sold two cars each at Rs.325475 and gains 12% on the first and losses 12% on the

second, then his profit or loss percentage on the whole is

Options :
14.4% profit

1. %

1.44% loss
2.9



3 % 14.4% loss

o x 0%

Question Number : 42 Question Id : 97103630499 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At what rate of interest s an amount doubled in two years, when compounded annually?

Options :

41.4 %

-]

)

4. %

Question Number : 43 Question Id : 97103630500 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 24 men can do a work m 35 days. how many men are required to complete the

work in 21 days?

Options:

38



il
oM

Question Number : 44 Question Id : 97103630501 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A train travels for 9 hours. It travelled the first half of the distance at 12 kmph and remaining

distance at 15 kmph. Find the distance.
Options :
120

1.4

, w180

920

4.% 60

Question Number : 45 Question Id : 97103630502 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following groups of fractions 1s in descending order?



Options :

§9 6

51311
1. %

8 6 9
, x 15711713

s BB

131115
3. %

6 8 9

1115713
4. %

Question Number : 46 Question Id : 97103630503 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the statements ;

[ Twatch TV only if Tam bored
II. Tamnever bored when I have my brother’s company
[Il.  Whenever I go to the theatre I take my brother along.

Which one of the following conclusions is valid in the content of the above statements.

Options :

If Tam bored. I watch TV

, % IfIambored, I seek my brother’s company.



5 » IfTamnot with my brother. then I'watch TV

4V If T am not bored. Ido not watch TV

Question Number : 47 Question Id : 97103630504 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Find the number of triangles in the given figure.

Options :

1. % 8

2. % 10

Question Number : 48 Question Id : 97103630505 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Select the missing number from the following.

84 o 88

12 11

Options :

3 x 14

4 v 16

Question Number : 49 Question Id : 97103630506 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRS T.VandX.

Candidates Enrolled Candidates Who Passed
= 8550 = 5700




What percentage of candidates passed the Exam from mstitute T out of the total number of

candidates enrolled from the same institute?

Options :

0.
Cw 50%

62.5%

2 v T5%

80%

Question Number : 50 Question Id : 97103630507 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRS T Vand X.

Candidates Enrolled Candidates Who Passed
= 8530 = 5700

What 1s the ratio of candidates passed to the candidates enrolled from istitute P?
Options :

R |

1. %



, x 14:17

3.¢

4, ®

Question Number : 51 Question Id : 97103630508 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRST.VandX.

Candidates Enrolled Candidates Who Passed
= 8550 = 5700

What 1s the percentage of candidates passed to the candidates enrolled for institutes

Q and R together?

Options :



Question Number : 52 Question Id : 97103630509 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Instifutes :

P.QRS T VandX.

Candidates Enrolled Candidates Who Passed
= 8530 = 5700

Which institute has the highest percentage of candidates passed to the candidates enrolled?

Options :

Q

1. %

2. ¥

3. % V



Question Number : 53 Question Id : 97103630510 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

PQRS T VandX

Candidates Enrolled Candidates Who Passed
= 8550 = 5700

The number of candidates passed from institutes S and P together exceeds the number of

candidates enrolled from institutes T and R together by

Options:

Question Number : 54 Question Id : 97103630511 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following 1s not a network device?
Options:

.~ CPU

Switch

5 « Hub

4 « Router

Question Number : 55 Question Id : 97103630512 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A Gigabyte is equal to

Options :

1024 bytes
_ 1024 kilobytes

1024 megabytes

1024 terabytes



Question Number : 56 Question Id : 97103630513 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A computer program that translates a program statement by statement into machine

language is called

Options :
A compiler
An interpreter

A translator

A simulation

Question Number : 57 Question Id : 97103630514 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s correct for (17)10.

Options :

., (10011);

, o (10111),

., (10001);



4w (11001);

Question Number : 58 Question Id : 97103630515 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following protocol supports to link from one webpage to another page?

Options :

.« HTML

14

. » FTP

, o HTTP

Question Number : 59 Question Id : 97103630516 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s the biggest news agency in India?

Options:

UNI

1. %

, o PTI

3 x NAAP



4 % Samachar Bharathi

Question Number : 60 Question Id : 97103630517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The purpose of ICT use in education is to

Options :

Make teaching interesting

, » Attract students

- Optimize learning process

Promote technology in teaching

Question Number : 61 Question Id : 97103630518 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following mobile payment application is developed by the National Payments

Corporation of India based on UPI?

Options:

. x MYGOV



, , BHIM

, « UMANG

4% Phone pay

Question Number : 62 Question Id : 97103630519 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion(A): Night time temperature in the central parts of a city are generally higher

than those over the surrounding rural areas,
Reason(R): Radiation losses over the urban areas are less than that over the rural areas.

Choose the correct answer from the options given below.

Options :

v Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true but (R) is not the correct explanation of (A).

- (A) true. but (R) 1s false.

4w (A) 1s false. but (R) 1s true

Question Number : 63 Question Id : 97103630520 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which of the following activity contributes more to water pollution than any other

throughout world?
Options :

| «» Industry

Hydroelectric power generation
2. %

3 % Urbanization

Agriculture

Question Number : 64 Question Id : 97103630521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s not a water-borne disease?

Options:

1 » Cholera

, » Hepatitis

5 » lyphoid

4 Dengue



Question Number : 65 Question Id : 97103630522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not a renewable natural resource?

Options:

| w Fresh water

Clean water

3 ¢ Salt

Fertile soil

Question Number : 66 Question Id : 97103630523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The chemical formula for Baking soda is

Options:
NH4Cl

1. %

, » NaHCO:

Na-CO3z:H-0
3. ®



, « CH:COOH

Question Number : 67 Question Id : 97103630524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which was the Cultural Capital of Andhra Pradesh?

Options :

| w Tlirupati

, % Visakhapamam

» Rajamahendravaram

_ Amaravathi
4. ®

Question Number : 68 Question Id : 97103630525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Koundinya wildlife sanctuary 1s located in which of the following states?
Options :

1« Andhra Pradesh

Kerala



5« lamil Nadu

4% Kamataka

Question Number : 69 Question Id : 97103630526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

National council for women education was established m

Options:

v 1958

Question Number : 70 Question Id : 97103630527 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Autonomy in higher education system implies freedom in

Options :

Administration

1. #



5 Curriculum development

3 % Finance

., Policy-making

ENGLISH
Section Id : 971036434
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 71 Question Id : 97103630528 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Mystery plays deal with

Options :

1 = Moral Values

5> % The life and deeds of the Samts



3 = Heaven and hell

4.+ Biblical themes

Question Number : 72 Question Id : 97103630529 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An “Epilogue™ in a play appears

Options :

1 w» Inthe beginning of the play

5 % At the end of third act

3 % Atany stage

4 v At the end of the play

Question Number : 73 Question Id : 97103630530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which 1s supposed to be the first regular comedy in English?

Options :

1. % Jocasta

5 % Gammer Gurton’s Needle



3. % The English Traveller

4.« Ralph Roister Doister

Question Number : 74 Question Id : 97103630531 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which play 1s there a “Casket Scene’?

Options :

1 % Twelfth Night

5> « The Merchant of Venice

3« The Winter’s Tale

4 % The Tempest

Question Number : 75 Question Id : 97103630532 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Dryden’s Mac Flecknoe is a satire on

Options :

1 % Thomas Otway

5 » Congreve



3« Thomas Shadwell

4 % Wycherley

Question Number : 76 Question Id : 97103630533 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Who knows the world may end tonight “is quoted from

Options :

1 = Evelyn Hope
5 % Ulysses

The Last Ride Together
3. v

4 = Rabbi Ben Ezra

Question Number : 77 Question Id : 97103630534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Using words to imitate sounds 1s called

Options:

1w Alliteration

5> % Personification



3w Assonance

4 Onomatopoeia

Question Number : 78 Question Id : 97103630535 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Comparison between two things that does not use ‘like’ or “as’

Options :

1. % Simile

2.« Metaphor

3 % Personification

4 % Alliteration

Question Number : 79 Question Id : 97103630536 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What sort of verse did Shakespeare use for most of his plays?

Options:

1 = Alliterative verse



> % Sonnet form

3 « Blank verse

4 » Dactylic hexameter

Question Number : 80 Question Id : 97103630537 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Of Man’s first disobedience. and the first of that forbidden tree whose mortal taste

brought death into the world. with Loss of Eden”. Quoted from
Options:

1 % Samson Agonistes

> % Paradise Regained

3 » Comus

4 Paradise Lost

Question Number : 81 Question Id : 97103630538 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Renaissance 1s a/an

Options :

1% Italian word



5 % Spanish word

3« French Word

4. » Greek word

Question Number : 82 Question Id : 97103630539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following works had been banned in Britain for its obscenity for more

than three decades?

Options :

1 % Ulysses

5 % women in Love

Ladv Chatterlev’s Lover
I :

4% The Satanic Verses

Question Number : 83 Question Id : 97103630540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of his works did S. T. Coleridge mtroduce the term “willing suspension of

disbelief™?



Options :

1. % Christabel

, » Kubla Khan

3 @ Biographia Literaria

4 The Rime of the Ancient Mariner

Question Number : 84 Question Id : 97103630541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who quoted the famous line “To err 1s human. to forgive divine™

Options :

1 % Shakespeare
> = Marlowe

3 % Ben Johnson

4 Alexander Pope

Question Number : 85 Question Id : 97103630542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Who among the following wrote the famous lines: “Shall I compare thee to a summer’s
day/Thou art more lovely and more temperate”.

Options :

.« T.S. Eliot

, » John Keats

3 « Shakespeare

4 % Lord Tennyson

Question Number : 86 Question Id : 97103630543 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Jonathan Swift’s “The Battle of the Books™ deals with the dispute between

Options :

1 % Church and state

5 % Whigs and Tories

3 ¢ The ancients and the moderns

4 % Swift and Arbuthnot

Question Number : 87 Question Id : 97103630544 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
‘Life of Samuel Johnson” 1s written by

Options:

1« Gibbon

5> w Joseph Addison

3 % Oliver Goldsmith

4 James Boswell

Question Number : 88 Question Id : 97103630545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not a periodical?

Options :

| = The Spectator

> The Critic

3 % The Guardian

4 % The Tatler



Question Number : 89 Question Id : 97103630546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘Here 1s God’s plenty.” About whose work does Dryden say this?

Options :

1« Chaucer

> % Marlowe

3 Shakespeare

4 % Spenser

Question Number : 90 Question Id : 97103630547 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

To which of the following group did Robert Browning belong?

Options:
1 % Early Romantic poets
5  Victorian poets

3 % Georgian poets

4 = Later Romantic poets



Question Number : 91 Question Id : 97103630548 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the title of the elegy written by Shelley on the death of Keats?

Options :

1 % Astrophel

5 % Thyrsis

3. % Lycidas

4 Adonais

Question Number : 92 Question Id : 97103630549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When was the poem “Elegy written in a country Churchyard™ published?

Options :



Question Number : 93 Question Id : 97103630550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

T. S. Eliot dedicated his “The Waste Land” to

Options :

1 % John Ruskin

> % Bermard Shaw

3« Ezra Pound

4. = Rudyard Kipling

Question Number : 94 Question Id : 97103630551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Lamb’s essays contain a fine blend of humour and

Options :

1. % Satire

5 % Irony

3. « Pathos

4 % Sobriety



Question Number : 95 Question Id : 97103630552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The first published novel of Jane Austen was

Options :

1 % Pride and Prejudice
> % Emma

3. % Mansfield Park

4 Sense and Sensibility

Question Number : 96 Question Id : 97103630553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Michael Henchard 1s a character i the novel of

Options :

| » Henry Fielding

> % Samuel Richardson
3 v Thomas Hardy

4 % Charles Dickens



Question Number : 97 Question Id : 97103630554 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which novel of Dickens does he portray the degradation and sufferings of

the poor in English work houses?

Options :

1w Little Dorrit

5 % Great Expectations

3 @ Oliver Twist

4 % David Coppertield

Question Number : 98 Question Id : 97103630555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘A Tale ofa Tub’ 1s a

Options :

1 % Tragedy

o« Satire

5 » Comedy

_ Mock-heroic
4. ®



Question Number : 99 Question Id : 97103630556 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Who said “In Tom Jones there is too much plot™ ?

Options :

1 = F.R. Leaves

5 % S. T. Coleridge

3« Amold Kettle

4 » lan Watt

Question Number : 100 Question Id : 97103630557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Mis. Slipslop 1s a character in Henry Fielding’s

Options:

1. % Amelia

> % Tom Jones

3 « Joseph Andrews



4 % Shamela

Question Number : 101 Question Id : 97103630558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who i1s the protagonist of Shashi Deshpande’s Thar Long Silence ?

Options :

1 % Mohan

Tav
, » Jaya

3 » Indu

4 % Kamat

Question Number : 102 Question Id : 97103630559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Read the following passage carefully and answer the questions choosing the right option

At a time when we are enjoying longer, more healthful lives. ominous headlines
announce : ‘Researchers Tie Aluminium to Alzheimer’s Disease’ and “Coffee Linked to
Cholesterol Rise”. As a result of alarmmg and sometimes ambiguous bulletins, mmor
health worries often become major threats, and speculations about disease prevention
become ‘proven’ cures. Part of the problem 1s that the media often trumpet questionable
research findings as major medical break throughs.In 1985, three French scientists told
reporters af a press conference that the drug Cyclosporine appeared fo halt the growth of
the AIDS virus. They based the announcement on their observation of two AIDS patients
treated for eight days. Never mind that no actual study had been done; for the media. the
announcement was enough. and the story become front- page news around the world.
Unfortunately, one of the patients die within days. Cyclosporine was no miracle cure,

According to the writer. a lot of present day medical research is
Options :
1 % Sound and dependable

, & Utterly unconvincing

” Of questionable merit

4 % Ofmno value at all

Question Number : 103 Question Id : 97103630560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Read the following passage carefully and answer the questions choosing the right option

At a time when we are enjoying longer, more healthful lives. ominous headlines
announce : ‘Researchers Tie Aluminium to Alzheimer’s Disease’ and “Coffee Linked to
Cholesterol Rise”. As a result of alarmmg and sometimes ambiguous bulletins, mmor
health worries often become major threats, and speculations about disease prevention
become ‘proven’ cures. Part of the problem is that the media often trumpet questionable
research findings as major medical break throughs.In 1985, three French scientists told
reporters af a press conference that the drug Cyclosporine appeared fo halt the growth of
the AIDS virus. They based the announcement on their observation of two AIDS patients
treated for eight days. Never mind that no actual study had been done; for the media. the
announcement was enough. and the story become front- page news around the world.
Unfortunately, one of the patients die within days. Cyclosporine was no miracle cure,

The undue publicity given to such research
Options :

1 » Has no impact on people’s lives in general

5> « Adds to people’s worries and gives them false hopes

Fills people’s lives with death and destruction

4 % Makes people aware of the diseases

Question Number : 104 Question Id : 97103630561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Read the following passage carefully and answer the questions choosing the right option

At a time when we are enjoying longer, more healthful lives. ominous headlines
announce : ‘Researchers Tie Aluminium to Alzheimer’s Disease’ and “Coffee Linked to
Cholesterol Rise”. As a result of alarmmg and sometimes ambiguous bulletins, mmor
health worries often become major threats, and speculations about disease prevention
become ‘proven’ cures. Part of the problem is that the media often trumpet questionable
research findings as major medical break throughs.In 1985, three French scientists told
reporters af a press conference that the drug Cyclosporine appeared fo halt the growth of
the AIDS virus. They based the announcement on their observation of two AIDS patients
treated for eight days. Never mind that no actual study had been done; for the media. the
announcement was enough. and the story become front- page news around the world.
Unfortunately, one of the patients die within days. Cyclosporine was no miracle cure,

The role of the media has been

Options:

1 = To make people aware of possible health hazards

5 To give publicity to questionable research findings

3 % 10O dispel people’s fears about unknown diseases

4 % To report major medical discoveries

Question Number : 105 Question Id : 97103630562 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the pen name of Kamala Das?

Options :

1 = Malayala Kutty



» Madhavi Kutty

3 % Das Kutty

4 = Kerala Kutty

Question Number : 106 Question Id : 97103630563 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

“One 1s not born but rather becomes a woman.” Who said this?

Options :

1 % John Stuart Mill

, w Betty Friedan

3« Simon de Beauvoir

4 w» Luce Irigaray

Question Number : 107 Question Id : 97103630564 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In several poems including “Lady Lazarus™ and “Daddy™ Sylvia Plath used the

“Holocaust™ as a metaphor. why?

Options :



% To ])1"‘31'01{6 controversy

» To symbolise oppression

« 1o highlight her Jewish background

® To cncourage remembrance

Question Number : 108 Question Id : 97103630565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Bama’s ‘Karukku’ can be described as

Options :

1 ¢ Testimonial writing

, x Femunist writing

3 % Novella

4. » Novel

Question Number : 109 Question Id : 97103630566 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The sounds /p/. and /b/ are called



Options :

1 w» Plosives

> Bilabial Plosives

3 % Bilabial nasals

4% Diphthongs

Question Number : 110 Question Id : 97103630567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What kind of Drama 1s Samuel Beckett associated with?

Options :

1 % Restoration Drama

, % Drama of Ideas

3.« Absurd Drama

4. » Kitchen sink drama

Question Number : 111 Question Id : 97103630568 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following was A.D. Hope’s first collection of poems?



Options :

1« The Wandering Islands

5> % Dunciad Minor

5 = A Book of Answers

4 % Orpheus

Question Number : 112 Question Id : 97103630569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

I praise the scoring drought. the flying dust

the drying creek, the furious animal,

that they oppose us still:

that we are ruined by the thing.
These lines by Judith Wright from “Australia 1970° express

Options:

1 % Her love for rebellion

, w Her abiding love for Australia

5w Her concem tor the Aboriginals

4 Concern for environmental degradation



Question Number : 113 Question Id : 97103630570 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

“The Solid Mandala® 1s a novel set in Pre-war urban Australia written by

Options:

1 % Walter Beckett

, % Henry Handel Richardson

5« Judith Wright

4 Patrick White

Question Number : 114 Question Id : 97103630571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following language families contains the roots of the English Language?

Options :
» Indo-European

1.

, % Latin

3 % Sanskrit

4 % North-American



Question Number : 115 Question Id : 97103630572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The old-English 1s also known as

Options :

1« Anglo-Saxon

2 % Celtic

3 w DBritish

4 % European

Question Number : 116 Question Id : 97103630573 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Plagiarism 1s a well known word and concept in academic circles. The word is

derived from

Options :

1 % French

, « Greek

3  Latin

4 % Roman



Question Number : 117 Question Id : 97103630574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following provided theoretical basis for Audio-Lingual Method of

Language Teaching?

Options :

- Transformational Generative Linguistics

, % Cognitive Psychology and Structural Linguistics

3 Behaviourist Psychology and Bloomfieldian Structural Linguistics

Systemic Functional Linguistics.

Question Number : 118 Question Id : 97103630575 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

“Blended Learming™ is a mode of instruction learning in which

Options:

_— The leamer’s mother tongue and the target language are blended

5 % Learning 1s accessed through the mother tongue

3¢ A variety of instructional modes are integrated



4 = Learning of a language is mediated by humanistic approaches.

Question Number : 119 Question Id : 97103630576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A teaching method advocated by Dr. Georgia Lozanav which is based on the principle of

‘joy and easmess’ 15 called

Options :

1« Suggestopedia

, « Total physical response

3 % The Direct method

4w The audio-lingual method.

Question Number : 120 Question Id : 97103630577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘Lexis’ refers to

Options :

1« All word forms having meaning or grammatical functions

5> % The history of words



3w Study of select word forms

4. % The selection of words

Question Number : 121 Question Id : 97103630578 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Fourth World Literature™ refers to

Options :

1« The works of native people living in a land that has been taken over by non-natives

5 % The works of black people in the United States

5 « Lhe literature written by women

4 % Refers to the works of non heterosexuals

Question Number : 122 Question Id : 97103630579 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The term ‘Cultural Materialist’ 1s associated with

Options :

1 % Stephen Greenblatt

> % Matthew Arnold



3 % Terry Eagleton

4 v Raymond Williams

Question Number : 123 Question Id : 97103630580 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Stephen Dedalus 1s a fictional character associated with

Options :

1% The Heart of Darkness

5 % Sons and Lovers

3 % Ulysses

4V A Portrait of the Artist as a Young Man

Question Number : 124 Question Id : 97103630581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who among the following is referred to as “The French Freud™?

Options :

Michel Foucault

1. %

5> « Jaques Lacan



3 % Julia Kristeva

4 » Roland Barthes

Question Number : 125 Question Id : 97103630582 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The term “Stream of consciousness™ 1s derived from the writing of

Options :

1 w Virginia Woolf

5 % Dorothy Richardson

3 ¢ William James

4 % Mary Sinclair

Question Number : 126 Question Id : 97103630583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In Formalistic school of criticism art 1s

Options :

1. % Entertainment

> = Preaching



3 % Matter

4 Style

Question Number : 127 Question Id : 97103630584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Honest criticism and sensitive appreciation 1s directed not upon the poet but upon the

poetry”. Who said this?

Options :

1 % Matthew Arnold

, » T.S. Eliot

3 % Ransom

4 # F.R. Leavis

Question Number : 128 Question Id : 97103630585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Maor1 English 1s related to which of the following countries?

Options:

1 % Australia

> % Canada



3 « New Zealand

4 » Caribbean

Question Number : 129 Question Id : 97103630586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘Grammatology” 1s the study of

Options:

1 % Grammar
5  Abranch of linguistics that studies the nature of writing and writing systems

3. % A written or printed symbol for an 1dea or sound

n Conformity to the rules of a language

Question Number : 130 Question Id : 97103630587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which ideological movement emerged as a response to the large-scale destruction of

environment and the subsequent impact on women?

Options:

1 % Euphemism



, « Eco-feminism

3 % Andro-centricism

4 % Existential feminisin

Question Number : 131 Question Id : 97103630588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who among the following 1s considered to be the ‘father of Modern Linguistics’?

Options :

1. = Noam Chomsky

> % Rodman R.

3 ¢ Ferdinand de Sassure

4w Lyons. John

Question Number : 132 Question Id : 97103630589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Anagnorisis means

Options :

1« Recognition



> % Oblivion

3 % Contemplation

4 % Loss of memory

Question Number : 133 Question Id : 97103630590 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who pioneered the Fenumist Criticism?

Options:

1 » Gayathr Spivak

5 % Lucy Irigaray

3 Simon de Beauvoir

4« Elaine Showalter

Question Number : 134 Question Id : 97103630591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which award did Arundhati Roy get for her debut novel “The God of Small Things™

Options :

| % Sahitva Akademi Award



> % Wisconsin Prize

3  Booker Prize

4. % Doctor of letters

Question Number : 135 Question Id : 97103630592 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The term ‘Cultural intermediaries’ was introduced by

Options :
1.+ Pierre Bourdieu

> % Jaques Lacan

3 % Derrida

4. % Michel Foucault

Question Number : 136 Question Id : 97103630593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who is considered the “father’ of Post-colonial theory?

Options :

1.« Edward Said



> % Chinua Achebe

3 % Homi Bhabha

4 % King George

Question Number : 137 Question Id : 97103630594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Stuart Hall was inspired by a text written by Antonio Gramsci. What was it?

Options :

1. % The Marxism Diaries

, % The Motor cycle Diaries

3 % The Princess Diaries

4 The Prison Note books

Question Number : 138 Question Id : 97103630595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Cultural Studies originated in

Options :



1 % The United States

5>  Britain

3. % Australia

Germany

Question Number : 139 Question Id : 97103630596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 15 the name of the conceptual framework in which the research 1s carried out?

Options :

1 % Research hypothesis

5 % Synopsis of research

3 % Research paradigm

Research design

Question Number : 140 Question Id : 97103630597 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Who 1s the author of “Decolonising the Mind: The politics of language 1n African
Literature™?

Options :

1 % Chinua Achebe

) o Ngugi Wa Thiang’o

3. % Margaret Atwood

4 % Ama Ata Aidoo



